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ap = head
ep = head
=0

for i=0 ... m-1 // m = length of word

if ap doesn’t have a child equal to W(¢) and j=0:

{

add a new child to active point with value (i,

k = ap[l] // ap’s value is (k, ..)
e{zlse if w(k+ j)==w(i)

j++

e{)lse if w(k +j) # w (i)

Repair_Tree

}
}

while j>0

{
ap.value = (ap.value[l], k+j-1)
add a child to ap with value (i, ..)

)
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if ap has no child which fits to w (k + j), add a son with value (k+j, ..)

if ap has no suffix link

find ap’s suffix

add a link from ap to the suffix
ap = suffix
j,

}

if we arrived to a vertex which doesn’t need repairing, make it the active point and break.

}




